the SPL¥[' auxiliary contacts to pin 8 of the octal male
viug, Connect the normally open contact to the hot ter-
minal of the telegraph key. Do not connect anvihing to
the third auxiliary confact. Connect the ground side of
the lelegraph Key lo pin one of the octal plug, Note Lthat
il is uecessary lu liave a key will a shorling lever un il
or, it will be neceesary to add a switch acroes the koy.

G. The microphone plugs into the MIC jack on the
panel asusual, I[f the microphone has a push-lo-talk but-
ion thai disconnecls or shorts the microphone, Lhe builon
will have to b locked in the TATLK pasition or the eon-
tacts should be disconnected, The key contacts must nol
be connected to the microphone plug,

H. Insert the octal plug inlo the sockel al Lhe rear
af the tranamitter,

I, Follow steps I, J and K given above for phone
operatioi.

Tn operate with this arrangomoent, all that1s neces-
sary to change from transmit to receive 18 to step on the
ool swilch ur operate the togple switch., I the trans-
mission is to bec on CW, the sheorting lever on the key
must be open, It muat be cloded for phone operation.

ALIGNMENT

The ‘I'-62 has a number of broadband circuits to
elimninate the need [or several panei adjustments usually
found on this type of equipmenl. An addilional advantaye
af the hroadhand circuits isthe reduetion of spurious out-
puts. This is beeause there are two tuned clrcuits used
where there is usually ouly one, giving better attenuation
ol the unwanted hayrmaonics in the mulliptier stages.

These pircults are not lkely to require any adjust-
ment ualess they have beentampered with or, if a spec-
ial frequency range is needed,

The normal alignment gives satisfactory drive tothe
final over the whole 2meter hand and from 5010 52 Mc,
on the 8 meter band. There are two reasons for tuning
tor 2 instead of 4 Mc. on & meters, Firsl, there is very
little activity above 52 Me., cven in goed band openings.
Secomd, it permits alightly better attensation of apurious
Signals, Data is given later [or 50 to 54 Mc, alignment.

EQUIPMENT REQUIRED:

1. A varishle frequency oacillator with aecurvate
(requency calibrations having a frequency spread of 7.5
KMo, Lo 8.0 Mo, willk al least T volls oulpul. A similar
Instrument having a frequency gpread of 22,5 Me, to
28.5 Me, with at least 1,0 volt output will also do,

2. A vacyum tube voltmeter,

3. A tuning wrench with 0. 100' hex on Loth ends.

4, A 50 ohm dummy load.

5. A telegraph key with a shorting lever andphone
wlup,

ALIGNMENT PLOCEDRURE: (SEE FIGURES § AND £}

1, Disconnect the blue wire from R42 - the 15, 000
ohm wire wourd resislor.

2. Cmmneet the VFO to the orystal socket of Lhe
transmitter, ''he grounded side of the socket 18 nearest
to the MIC jack.

3, Connecl lhe dumnmy toad Lo Lhe antenna juck of
the transmitter,

4, Plupg in the key,

5. Preset thecontrovls onthe transmitter as follows:
POWER switch to OFF, PHONE-CW gwilch o CW,
VEO-CRYSTAL awiteh tn VFQ, METER seleetnr awiteh
to GRITY, MIC GAIN control completely coanter ¢lock-
wise to "Spot™ position. DRIVE control neazr maximum,
BAND switch to 6 meters. PLATE and LOAD adjust-

ments will be given later on,

G, Turn the transmitter on and aliow it to warm up
for a full minute,

T. With the VTYM on the 50 or 100 voll DC scale,
connect it to the transmitter the common or ground
lead to the chassis {for all tests) and the hot probe to the
L3 - 100K junction,

8, Keyilw lrunsmiller and iyne the vores in L2 and
L3 for maximum reading with the VFQ sct at 8, 33 Mc,
(25.0 Mec.). The first setting {3.33 Mc.)} is for a 7.5
Mec. to 9.5 Me, VFOQ; The figure in the parenthesis is
for o 22.5 Me. to 28.5 Mc. VFQO. I the maximum volt-
age is leas than A0 volta, check the VFO to see that it is
delivering sufficient output, Alsc, check V1and the volt-
ages on its socket with the vollage chari, O the vollage
reuding is satisfuctory, continue with the alighment.

1. Readjust the cover in T.2 and T3 until the VTVM
reafing is over 35 voits in the VFO range from 8,0 Mec,
(24.0 Me.) lo 8,87 Mce. (26,0 Me.). Typital readings
are 80volis at 8.0 Me. (24.0Me, ), 50 volts at 8. 33 Mc.
(25.0 Me. ) and 90 volts at 867 Me. (26,0 Me.). There
i&g normally a dip in the middle and &4 sharp drop abosre
8,87 Mc. {26.0 Mc.).

10, 8hift the VTVM prrohe to the 1.5 - R13 junetion,

1l, 'T'urn the MIC GAIN contral away from "Spotr,

12, At B.33Mec. (25,0 Mc. dtune L4 and 11 for max-
imum reading on the TRANSMITTER meler bul do
not allow this rerding to exceed § ma. for more than a
few seconds,

13, Turn the BAND switeh to 2 meters.

14, Tune L5 for maximum VTVL reading al 8, 0Mc,
{24.0 Me., ),

15, Turn the BANL switch to B meters,

16, Adjust Ldand L11to getas flat or even a reading
us possible op the transmiller meter over lhe 8,33 Mc,
{25.0 Mc, } to 8.67 Mc. (26.0 Me,) range. Typleal grid
current is to¥ ma, with tne drive control at maximum,
Du pol permit the grid current to exceed D ma, for more
than a fow sceonds.

17, Turn the BDAND awitch to 2 meters,

18, Disconnect the VITVM.,

19, Adjust the core in L5 and adjust the apacing of
the turns on LYto obtain the maximum transmitter meter
reading at appreximately mid bund. Then adjust these
twao until the meter reads abhout the same at the twao ends
of the band, Honly a portion of the Band is used, use the
limily of the parl you use inslead of the ends of the baod.
The onds of the band are 8.0 Mc. (24.0 Me.) and 8. 22
Mc. (24,67 Mc.). The center iz 8§ 11 Me. (2432 Me_ ).

90, Turn ihe power off and recomnect the blue wire
to R12. Turn the power on and allow at least a full min-
ute for warm-up,

21, Check out the transmitter on the dummy load,
using the normal vperaling instructicons,

22, Repeat Siep 19 only.,

ALIGNMENT FOR 50-54 MC, OPERATION

The TX-82 is norinally aligned for 5U-02 Mc. oper-
ation. If service is desired over the enlire 50 Lo b4 Mc.
band, the following alignment procedure should be used.
The coupling between L2 and 1.3 must be increased ta
permit e larger bandwidth, Solder a piece of plastic
covered hookup wire —— about 1-172" long — to each
end of CB, De sure lhat the free ends of the two wires
are covered with their insulation. Twist these two wires
Logelher in pne turn -- ool too tight -- to form an easily
adjusted small capacitor. Follow lhe [lirst part of the
alignment instructiong ahove for 1.2 and L3, bul work for
the wider bandwidth desired, Try several adjustments
on the twisted wire cupacilor, readjusting after each



